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A srodp of B students ook a physies test
This tuble shows the distribution of themr marks:

Mark {mi) D=m=10 | W<m=30|20<m=30 | 30<m=40 | M <m=50| 5 <m=>00
Frequency 4 il 14 ris 18 1
fa) Complete the cumulative frequency tahle,
Mk (1) =10 m =20 m =30 m = 41 m= 3 o= Hl)
Cumulative
freguency
1]
(b) Draw a cumulative frequency curve for this information.
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fe) The poss mark for the test 1s 43
Lse your cumulative frequency curve to estimate the number of students who passed
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]
Write these munbers m order, startens with the smallest

] —1 = -

i | L
Jog| =
I 1
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The dmermm shows the regions 4 o §

=
21-4
1
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Grve the letter of the remon defmal by cach set of mogualities
n) x>0 r>0.v<] mul v<3—2s
Anvwer
B v>Ler<xr—2 mml vy<5—
{mwer
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The table shows pant of Ms Dube’s payslip for a particular month.

Eurnings ) Deductions B
transport allowance 100,00 pension contribution 6,00
housing allowance 129,00 umion subscription. LN

medical md AW

Insurance 17.50
basic sulary 275,00 total deduetions -
net sulary -

in) Calculate the
(i) total deductions,
(i) net salary.

ihj Express the pension conribution as & percentage of her basic sulary.

Answer  (al {il % [1]
(i) % [1]
(hi i 2]
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19 (a) Inthe disgrmm, twe small tnangles are shaded

Shade ane more small (nangle, so that the disgrom will then bave one lme

Answer

Answer

Ay

of symmetry

(h) Inthe dmgrm. two small squares are shaded

ADDArI NIDES

[1]

1]

Shade two more small sguoares, so that the disgram will then have rotntional symmetry of order 2
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A machme puts beads of different colours and sires into packels.

The beads ure selected at random from o large contamer and the selection of each bead for o pocket is
mdependent of all others

The table shows informution on the contents of six packets

Total
|4 I8 16 18 L

I
L
e
i
-

Packet
Total number of beads |
Number of blue beads i b 8 [ ]

L
=

{a) Calculate the relative frequency of the machine selecting a blue bead

dnswer ., - - - 1]

ih) Calewlate how many blue beads vou would expect mn a packet of 31 beads

) La 1]

ie) The probability that the mechme selects o red bead is 0017

Calcalute the probability that the machme does mot select a red beud.

Answer [1]

400472 MR
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21 The dimersm at the bottom of the page shows the hines 48 and #C
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By measunng an angle, find reflex angle A8C

Answer ABC =

The pomt £ 15 on the opposite side of AC 10 B
Ch=CHand AD= 10cm

Cin the diagram, construct quakinlateral ABCD

On the dingram, construet the locus of points, inside the quadnioteral ABCD, that are

(i)  cqudistant from 4 and &

(i) comdistant from BC ond 84,

1]

1]

O the dingram, shade the region imside the quadnlateral ASCD contmmimg the poants that are

- nearer 1o 4 than 1o 8
=  and nearer o 8 than o 84,

0T NI

1]
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